Grand Slam 880 Antenna Mount

GS-880

1/4 x 20 Bolt (C) |

1/4 x 20 Bolt (C)

Stainless Steel Washer (F) <
Plastic Washer (E) <

Stainless Steel Washer (F) &> \
Plastic Washer (E) <>

C N
= a T-Top Canvas ‘ ‘

Mounting Plate
Stainless Steel Washer (F)<>

1/4 x 20 Nut (D) &

Hard Top

Optional Spacer Tub
VV22-9806BKA4

Stainless Steel Washer (F)
1/4 x 20 Nut (D)

Backing Plate - 1/4 Aluminum or Starboard
(Not Included)



